

MATH 308. Differential Equations

Lecture 15: Laplace transform (Sec. 6.4, 6.5)

Nataliya Goncharuk

Texas A & M

October 20, 2022

Example: $y' + y = 2u_1(t)$, $y(0) = 1$ (from the last time)

▶ $(s + 1)\mathcal{L}\{y\} - 1 = 2\frac{e^{-s}}{s}$.

Example: $y' + y = 2u_1(t)$, $y(0) = 1$ (from the last time)

$$\blacktriangleright (s + 1)\mathcal{L}\{y\} - 1 = 2\frac{e^{-s}}{s}.$$

$$\blacktriangleright y(t) = \mathcal{L}^{-1}\left\{\frac{2e^{-s}}{s(1+s)} + \frac{1}{s+1}\right\}.$$

Example: $y' + y = 2u_1(t)$, $y(0) = 1$ (from the last time)

- ▶ $(s + 1)\mathcal{L}\{y\} - 1 = 2\frac{e^{-s}}{s}$.
- ▶ $y(t) = \mathcal{L}^{-1}\left\{\frac{2e^{-s}}{s(1+s)} + \frac{1}{s+1}\right\}$.
- ▶ $y(t) = 2u_1(t) \cdot (1 - e^{-t+1}) + e^{-t}$;

Example: $y' + y = 2u_1(t)$, $y(0) = 1$ (from the last time)

- ▶ $(s + 1)\mathcal{L}\{y\} - 1 = 2\frac{e^{-s}}{s}$.
- ▶ $y(t) = \mathcal{L}^{-1}\left\{\frac{2e^{-s}}{s(1+s)} + \frac{1}{s+1}\right\}$.
- ▶ $y(t) = 2u_1(t) \cdot (1 - e^{-t+1}) + e^{-t}$;
- ▶ Plotting the graph of $y(t)$ using desmos.com (use $\{ \}$ to specify domains of the functions).

Example: $y' + y = 2u_1(t)$, $y(0) = 1$ (from the last time)

- ▶ $(s + 1)\mathcal{L}\{y\} - 1 = 2\frac{e^{-s}}{s}$.
- ▶ $y(t) = \mathcal{L}^{-1}\left\{\frac{2e^{-s}}{s(1+s)} + \frac{1}{s+1}\right\}$.
- ▶ $y(t) = 2u_1(t) \cdot (1 - e^{-t+1}) + e^{-t}$;
- ▶ Plotting the graph of $y(t)$ using desmos.com (use $\{ \}$ to specify domains of the functions).
- ▶ Interpretation: y is the temperature in the house, $2u_1(t)$ is the outdoor temperature.

General Case

$$y'' + ay' + by = f(t)$$

Suppose that $f(t)$ only has jump discontinuities.

General Case

$$y'' + ay' + by = f(t)$$

Suppose that $f(t)$ only has jump discontinuities.

Remark

The answer $y(t)$ will:

General Case

$$y'' + ay' + by = f(t)$$

Suppose that $f(t)$ only has jump discontinuities.

Remark

The answer $y(t)$ will:

- ▶ Satisfy the equation whenever f is continuous;

General Case

$$y'' + ay' + by = f(t)$$

Suppose that $f(t)$ only has jump discontinuities.

Remark

The answer $y(t)$ will:

- ▶ Satisfy the equation whenever f is continuous;
- ▶ y'' (the highest derivative in the equation) will have a jump discontinuity when f has a jump discontinuity;

General Case

$$y'' + ay' + by = f(t)$$

Suppose that $f(t)$ only has jump discontinuities.

Remark

The answer $y(t)$ will:

- ▶ Satisfy the equation whenever f is continuous;
- ▶ y'' (the highest derivative in the equation) will have a jump discontinuity when f has a jump discontinuity;
- ▶ y, y' (derivatives of smaller order) will be continuous.

Example-2

$$y'' + y = 1 - u_{3\pi}(t), \quad y(0) = y'(0) = 0.$$

<https://pingo.coactum.de/885803>

Example-2

$$y'' + y = 1 - u_{3\pi}(t), \quad y(0) = y'(0) = 0.$$

$$y = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1 + s^2)} \right\}$$

<https://pingo.coactum.de/885803>

Example-2

$$y'' + y = 1 - u_{3\pi}(t), \quad y(0) = y'(0) = 0.$$

$$y = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1 + s^2)} \right\}$$

Example

Find $\mathcal{L}^{-1} \left\{ \frac{1}{s(1+s^2)} \right\}$ (use partial fractions).

- (A) $t - \cos t$; (B) $1 - \cos t$; (C) $1 + \cos t$; (D) $t \cos t$.

<https://pingo.coactum.de/885803>

Example-2: $y'' + y = 1 - u_{3\pi}(t)$, $y(0) = y'(0) = 0$.

$$y(t) = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1 + s^2)} \right\}$$

<https://pingo.coactum.de/885803>

Example-2: $y'' + y = 1 - u_{3\pi}(t)$, $y(0) = y'(0) = 0$.

$$y(t) = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1 + s^2)} \right\}$$

Example

Find $\mathcal{L}^{-1} \left\{ \frac{e^{-3\pi s}}{s(1 + s^2)} \right\}$.

- (A) $1 - \cos(t - 3\pi)$; (B) $u_{3\pi}(t)(1 - \cos(t - 3\pi))$;
(C) $1 + u_{3\pi}(t) \cos(t - 3\pi)$; (D) $u_{3\pi}(t)(1 + 3\pi - \cos t)$.

<https://pingo.coactum.de/885803>

Example-2: $y'' + y = 1 - u_{3\pi}(t)$, $y(0) = y'(0) = 0$.

$$y(t) = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1 + s^2)} \right\}$$

Example

Find $\mathcal{L}^{-1} \left\{ \frac{e^{-3\pi s}}{s(1+s^2)} \right\}$.

- (A) $1 - \cos(t - 3\pi)$; (B) $u_{3\pi}(t)(1 - \cos(t - 3\pi))$;
(C) $1 + u_{3\pi}(t) \cos(t - 3\pi)$; (D) $u_{3\pi}(t)(1 + 3\pi - \cos t)$.

<https://pingo.coactum.de/885803>

Also write out $y(t) = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1+s^2)} \right\}$.

Example-2: $y'' + y = 1 - u_{3\pi}(t)$, $y(0) = y'(0) = 0$.

$$y(t) = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1 + s^2)} \right\}$$

Example

Find $\mathcal{L}^{-1} \left\{ \frac{e^{-3\pi s}}{s(1+s^2)} \right\}$.

- (A) $1 - \cos(t - 3\pi)$; (B) $u_{3\pi}(t)(1 - \cos(t - 3\pi))$;
(C) $1 + u_{3\pi}(t) \cos(t - 3\pi)$; (D) $u_{3\pi}(t)(1 + 3\pi - \cos t)$.

<https://pingo.coactum.de/885803>

Also write out $y(t) = \mathcal{L}^{-1} \left\{ \frac{1 - e^{-3\pi s}}{s(1+s^2)} \right\}$.

[Plotting the graph of y , making sure it satisfies the equation and y, y' are continuous]

Impacts and Dirac delta-functions

- ▶ Delta-function $\delta(t - c)$ is a generalized function that “equals” ∞ at c and zero for all other t .

Impacts and Dirac delta-functions

- ▶ Delta-function $\delta(t - c)$ is a generalized function that “equals” ∞ at c and zero for all other t .
- ▶ $\int_{-\infty}^{\infty} \delta(t - c) dt = 1$ (formally, the notion of integral should be generalized to this case).

Impacts and Dirac delta-functions

- ▶ Delta-function $\delta(t - c)$ is a generalized function that “equals” ∞ at c and zero for all other t .
- ▶ $\int_{-\infty}^{\infty} \delta(t - c) dt = 1$ (formally, the notion of integral should be generalized to this case).
- ▶ Impact: an outer force

$$f_{\varepsilon}(t) = \begin{cases} A \cdot \frac{1}{2\varepsilon}, & c - \varepsilon < t < c + \varepsilon \\ 0, & \text{other } t \end{cases}$$

for small ε .

Impacts and Dirac delta-functions

- ▶ Delta-function $\delta(t - c)$ is a generalized function that “equals” ∞ at c and zero for all other t .
- ▶ $\int_{-\infty}^{\infty} \delta(t - c) dt = 1$ (formally, the notion of integral should be generalized to this case).
- ▶ Impact: an outer force

$$f_{\varepsilon}(t) = \begin{cases} A \cdot \frac{1}{2\varepsilon}, & c - \varepsilon < t < c + \varepsilon \\ 0, & \text{other } t \end{cases}$$

for small ε .

- ▶ Such impact is close to $A \cdot \delta(t - c)$ if ε is very small.

Impacts and Dirac delta-functions

- ▶ Delta-function $\delta(t - c)$ is a generalized function that “equals” ∞ at c and zero for all other t .
- ▶ $\int_{-\infty}^{\infty} \delta(t - c) dt = 1$ (formally, the notion of integral should be generalized to this case).
- ▶ Impact: an outer force

$$f_{\varepsilon}(t) = \begin{cases} A \cdot \frac{1}{2\varepsilon}, & c - \varepsilon < t < c + \varepsilon \\ 0, & \text{other } t \end{cases}$$

for small ε .

- ▶ Such impact is close to $A \cdot \delta(t - c)$ if ε is very small.
- ▶ $f_{\varepsilon}(t) = \frac{A}{2\varepsilon} u_{c-\varepsilon}(t) - \frac{A}{2\varepsilon} u_{c+\varepsilon}(t)$

Laplace transform of the δ -function $\delta(t - c)$

- ▶ Idea: compute $\mathcal{L}\{f_\varepsilon\}$ for $A = 1$ and let $\varepsilon \rightarrow 0$.

Laplace transform of the δ -function $\delta(t - c)$

▶ Idea: compute $\mathcal{L}\{f_\varepsilon\}$ for $A = 1$ and let $\varepsilon \rightarrow 0$.

▶
$$f_\varepsilon(t) = \frac{1}{2\varepsilon} u_{c-\varepsilon}(t) - \frac{1}{2\varepsilon} u_{c+\varepsilon}(t)$$

Laplace transform of the δ -function $\delta(t - c)$

▶ Idea: compute $\mathcal{L}\{f_\varepsilon\}$ for $A = 1$ and let $\varepsilon \rightarrow 0$.

▶ $f_\varepsilon(t) = \frac{1}{2\varepsilon}u_{c-\varepsilon}(t) - \frac{1}{2\varepsilon}u_{c+\varepsilon}(t)$

▶ $\mathcal{L}\{f_\varepsilon(t)\} = \frac{1}{2\varepsilon} \left(\frac{e^{-(c-\varepsilon)s} - e^{-(c+\varepsilon)s}}{s} \right) = \frac{e^{-cs}}{s} \cdot \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon}.$

Laplace transform of the δ -function $\delta(t - c)$

► Idea: compute $\mathcal{L}\{f_\varepsilon\}$ for $A = 1$ and let $\varepsilon \rightarrow 0$.

► $f_\varepsilon(t) = \frac{1}{2\varepsilon}u_{c-\varepsilon}(t) - \frac{1}{2\varepsilon}u_{c+\varepsilon}(t)$

► $\mathcal{L}\{f_\varepsilon(t)\} = \frac{1}{2\varepsilon} \left(\frac{e^{-(c-\varepsilon)s} - e^{-(c+\varepsilon)s}}{s} \right) = \frac{e^{-cs}}{s} \cdot \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon}.$

► $\lim_{\varepsilon \rightarrow 0} \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon} = \lim_{\varepsilon \rightarrow 0} \frac{se^{\varepsilon s} + se^{-\varepsilon s}}{2} = s$

Laplace transform of the δ -function $\delta(t - c)$

► Idea: compute $\mathcal{L}\{f_\varepsilon\}$ for $A = 1$ and let $\varepsilon \rightarrow 0$.

► $f_\varepsilon(t) = \frac{1}{2\varepsilon}u_{c-\varepsilon}(t) - \frac{1}{2\varepsilon}u_{c+\varepsilon}(t)$

► $\mathcal{L}\{f_\varepsilon(t)\} = \frac{1}{2\varepsilon} \left(\frac{e^{-(c-\varepsilon)s} - e^{-(c+\varepsilon)s}}{s} \right) = \frac{e^{-cs}}{s} \cdot \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon}.$

► $\lim_{\varepsilon \rightarrow 0} \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon} = \lim_{\varepsilon \rightarrow 0} \frac{se^{\varepsilon s} + se^{-\varepsilon s}}{2} = s$

► $\lim_{\varepsilon \rightarrow 0} \mathcal{L}\{f_\varepsilon(t)\} = \frac{e^{-cs}}{s} \cdot s = e^{-cs}.$

Laplace transform of the δ -function $\delta(t - c)$

- ▶ Idea: compute $\mathcal{L}\{f_\varepsilon\}$ for $A = 1$ and let $\varepsilon \rightarrow 0$.

- ▶ $f_\varepsilon(t) = \frac{1}{2\varepsilon}u_{c-\varepsilon}(t) - \frac{1}{2\varepsilon}u_{c+\varepsilon}(t)$

- ▶ $\mathcal{L}\{f_\varepsilon(t)\} = \frac{1}{2\varepsilon} \left(\frac{e^{-(c-\varepsilon)s} - e^{-(c+\varepsilon)s}}{s} \right) = \frac{e^{-cs}}{s} \cdot \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon}.$

- ▶ $\lim_{\varepsilon \rightarrow 0} \frac{e^{\varepsilon s} - e^{-\varepsilon s}}{2\varepsilon} = \lim_{\varepsilon \rightarrow 0} \frac{se^{\varepsilon s} + se^{-\varepsilon s}}{2} = s$

- ▶ $\lim_{\varepsilon \rightarrow 0} \mathcal{L}\{f_\varepsilon(t)\} = \frac{e^{-cs}}{s} \cdot s = e^{-cs}.$

- ▶ Answer: $\boxed{\mathcal{L}\{\delta(t - c)\} = e^{-cs}.}$

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$

Interpretation: punching the mass-spring system.

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$

Interpretation: punching the mass-spring system.

► Laplace transform:

$$\mathcal{L}\{y\}s^2 - sy(0) - y'(0) + \mathcal{L}\{y\} = 3e^{-s}$$

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$

Interpretation: punching the mass-spring system.

- ▶ Laplace transform:

$$\mathcal{L}\{y\}s^2 - sy(0) - y'(0) + \mathcal{L}\{y\} = 3e^{-s}$$



$$y(t) = \mathcal{L}^{-1}\left\{\frac{3e^{-s}}{s^2 + 1} + \frac{s}{s^2 + 1}\right\}.$$

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$

<https://pingo.coactum.de/885803>

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$



$$y(t) = \mathcal{L}^{-1}\left\{\frac{3e^{-s}}{s^2 + 1} + \frac{s}{s^2 + 1}\right\}.$$

<https://pingo.coactum.de/885803>

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$



$$y(t) = \mathcal{L}^{-1}\left\{\frac{3e^{-s}}{s^2 + 1} + \frac{s}{s^2 + 1}\right\}.$$

- (A) $y(t) = 3u_1(t) \sin(t - 1) + \cos t$;
- (B) $y(t) = 3u_1(t)(\sin(t - 1) + \cos(t - 1))$;
- (C) $y(t) = 3\delta(t - 1) \sin(t) + \cos(t)$;
- (D) $y(t) = 3 \sin(t - 1) + \cos t$.

<https://pingo.coactum.de/885803>

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$



$$y(t) = \mathcal{L}^{-1}\left\{\frac{3e^{-s}}{s^2 + 1} + \frac{s}{s^2 + 1}\right\}.$$

- (A) $y(t) = 3u_1(t) \sin(t - 1) + \cos t$;
- (B) $y(t) = 3u_1(t)(\sin(t - 1) + \cos(t - 1))$;
- (C) $y(t) = 3\delta(t - 1) \sin(t) + \cos(t)$;
- (D) $y(t) = 3 \sin(t - 1) + \cos t$.

<https://pingo.coactum.de/885803>

- ▶ Plotting the graph of y : the function y is continuous at 1, but y' is not.

Equations with $\delta(t - c)$ on the right-hand side

Example

$$y'' + y = 3\delta(t - 1), y(0) = 1, y'(0) = 0$$



$$y(t) = \mathcal{L}^{-1}\left\{\frac{3e^{-s}}{s^2 + 1} + \frac{s}{s^2 + 1}\right\}.$$

- (A) $y(t) = 3u_1(t) \sin(t - 1) + \cos t$;
- (B) $y(t) = 3u_1(t)(\sin(t - 1) + \cos(t - 1))$;
- (C) $y(t) = 3\delta(t - 1) \sin(t) + \cos(t)$;
- (D) $y(t) = 3 \sin(t - 1) + \cos t$.

<https://pingo.coactum.de/885803>

- ▶ Plotting the graph of y : the function y is continuous at 1, but y' is not.
- ▶ The RHS of the equation can contain several δ -functions and Heaviside functions, the strategy is the same.

Example: antiderivative of the delta-function

Example

Solve: $y' = \delta(t - 1)$, $y(0) = 0$.

(A) $y(t) = \frac{e^{-t}}{t}$;

(B) $y(t) = \delta(t - 1)$;

(C) $y(t) = u_1(t)$;

(D) $y(t) = e^{-t}$.

<https://pingo.coactum.de/885803>